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pacwennsatT CO2 Ha
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yrnepoa 3abupatot cebe B
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CH4 B 3emniio
3axopaHunBaeTcsl - HeddTb

HedTb+0O2 = CO2
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HobGeneBckasi npemus 1961
CBEPXTEKYYECTb XNOKOrO renms

void prostoe_chislo3(int x)

printf("proveryaem chislo %d na prostotu\n”,x);

inti;

int k=1;

double e=algebra_koren(x);
for(i=2;i<e;i++)

if(x%i==0)
{
k=0;
printf("%d delitsya na %d\n",x,i);
x=x/i;
e=algebra_koren(x);
i--;

}

printf("posledniy mnozitel - %d\n",x);
if(k==1)
{

printf("chislo - prostoe\n");

}

else

printf("chislo - sostavnoe\n");

}

void prostoe_chislo(int x)

{

void prostoe_chislo2(int x)

{

inti;

int k=1;

double e=algebra_koren(x);
for(i=2;i<e;i++)

if(x%i==0)
{
k=0;
break;

}
}
if(k==1)

printf("chislo %d-prostoe\n",x);
}

else

printf("chislo %d-sostavnoe\n" x);

}

inti;
int k=1;
for(i=2;i<x;i++)
{ if(x%i==0)
{
k=0;
}

}
if(k==1)

printf("chislo %d-prostoe\n”,x};

}

else

printf("chislo %d-sostavnoe\n{,x);

}

nporpammMmpoBaHune 2
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